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PARENTS: Please DO NOT help or prompt the student.

1) At the shop, Ahmed bought a book for $6.75 and paid for it with
a $10.00 note. How much change did he receive?

2) Answer the following.

a)
b)
c)
d)
e)

f)

8x4-=

8 x6-=

8 x 10 =

8xbH-=

8 x11-=

8x7 =




3) Write the analogue and digital times for each clock face.

Analogue:

oo () (2

Analogue:

o (2 ) (D)

4) Find the correct path out of the maze.
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2)

i)
a) How many faces or surfaces
has a square ?
b) How many edges has a square ?
c) How many corners has a square ?
i)

a) How many faces or surfaces
has a circle ?

b) How many edges has a circle ?

c) How many corners or angles
has a circle ?

6) Complete these times tables.

a) 9x2-= d) 9x9-=

b) 9x7= e) 9x3=

c) 9x4-= f) 9x12-=




7) Write next to each of the following shapes, whether the shape

is 2D or 3D.
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8) Complete these times tables.

a) 10x 3= d) 11x7-=

b) 11x5-= e) 10x0-=

c) 10x10= f) 11x10=




9) Name the following 3D shapes.

a) j
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or

10) Find the perimeter (total distance around) of each shape.

(Note: All diagrams are not to scale.)
3m
8m

Bm Bm
2m

4m 10m

Perimeter= m Perimeter= m




11) The perimeter of this shape has been given. Work out the
missing length.
(Note: All diagrams are not to scale.)

2m
2m m

2m

2m
3m

6m
Perimeter= 24m

12)
a) How many centimetres in one metre?

b) How many centimetres in one and a half metres?

13)

a) Circle the objects below that have a surface area.

[N\~ R X 7

b) Circle the shape below that has the greatest area.




14) Solve 10 x 100 =

15) Complete these times tables

a) 12x 2= d) 12x 3=

b) 12x5= e) 12 x11=

c) 12x8-= f) 12x12 =




